Dnit £ Word Problems e ot e

O let x represent the number,

Sx+4 =2%F

5x =231 -%

Sx =2D
= T

S
x:"f

Jo IThe number s Y.

2) lLlet b ccpceSent tne W of bous

16'1' 30- b rporesev\'\' -an c‘c C)lr\S

(

s then d.ou-ble. pay 3 )

B%_\;@J_bs
30-b = 2b -3

-b-2b = -3-30 (7 3b-b

-3b = -33 | =z0-1)
-3 -3 / =19
b= I _/
Js There ove || bojs ard V4 girls
2w+ ¥
& Zw + 2(2w+3)= B6 2= 2wt
- w Zw + Hw +14 :S/Q =ZG2) F 7
bw =914 24+
'é.Ln_; ?7. < 3}
CR N
w=12 —/

oo 1 N2 (@Q\:Oﬂg\e v |2cm by 3em




@ Le‘]' A rep resent the & oL Nnickels

Lel 32-n rcr)reif'r\ﬁ' +the & c.-P d | mes .

0.05n + 0.16(32-n)=2.80

Adimes=32-n

0.05n +3.2-0)on =280 =32+-8
6.05:0.0n =2.30-3.2 | =24
—O.Déh = _Onu_ /
oos 505 /
n = 4
So Thhere ore 8 nitkes and 24 d el
Q el S represent He & of Spcl) deluye Dlﬁw&(ﬂ)
Let 3FY  represeat the price 4 c \age deluye pi 2 (%)
55 + 1 (5+v4) = 38.90 S large = S+ Y
Ss +s +4 =3%.50 =535+Y
)és = ¥ .50 -4 :Q_,:?'S
6y = 34 SO /
G
s = 6*%&6 4

&2 The Smal) DIEZC Y F5.F5 aro e \org¢ s 29, S

@ let x, 3tl,x+2Z represent dne ages (yrs).

Y rarl ¢¥£xX¥2 =42 A x4+ =1Y
Y4r+k =42-2-1 [ x¥2=15
Ix =29
3 2
y =13 —

oo Theic ages are V3 11 and \H.




ARV R N -1
VAN xtx = IRO~4 b
/)\ 46\ Zx =134

=z Zz
X =% B
o Ihe ec{ucd &\n%l\es IS d (9:1‘ .

8—\ Let n (epresént +re 1=\=J\ cuuax&e;s\
~LeX ers epresent He ¥ nickels -
Le\‘ HO - 9. —Ca r6) representr He # d e s.

Yp~q -g -5 )
—-55"2'0
0.25q + 6.05(q+Q) + 0.10(35-2¢) = 5.25
6.25q 1 0.05q +0.25 +3.5 -0 2g =525
O’LSa r0.05¢g -o.z.a' =5.18 -0.28-3.9
olg = 1.5
—¥ E—
O, 1
q = 5
Thewn "
nickek - a+6~ 15 S
=20
dimeS = 256 - Zq,
= 45 Z[\S)
=35-30
= 5

S, Trere are |5 q\Lo_rf'ers 20 nickels

and S dlmes.




@ let « rennosan-l +he # o5 %ggrad% Cb.m,moed sehls .
}q\ﬁwcs b3 &uoam.dﬂ 6 40

2.0 (46) + 12(x) = 64D

369 + 12x 40O
(2x = 640 -36Y
(2x = 236
1z Iz
x =23

o0 HC necds +o S@/“ 23 “r mrﬂ

A

_CD Ley x f‘tﬁp(@eﬂi‘ Hhe. number.

, / = \
Pox-20 _ 15°°°

Z

5x-20 = 30

bx =30+20

Sx =50

‘. _ﬂ(\g HLA_W\\L}&Y s \O,

aD Let x r::.p(e(en‘l' +Hhe. numboer

N —

I(x+ry) =

AX ¥+I12 =2 x

IX-2x =-1¢2

e The number ;s —I12.




> Lt x iepresent  The  Number

By Qe
.4
X = 3X+ZT
X =35 =F
“ax-2y
- =z
X = ~d+
2 - ZF
Fo The number s = .
@) Let x represent Yhe sorallest angle (s)
Led %390 fehrp&\'m-lno S&or\d r'hrsle,ﬁ°)'
Let Xx 1+ x+40 rmrPSef\-\— “‘he %srA @dg (cj
z
X+ X+H40 + X+x+t40 _—  1BO
{2 () wi < 2)
Zx+40 & @rry2 190
Z

"})(-]—80 + 7 x-)-“fo

—r"

260

U

Yx +2x = 360 -80-40

é__,{_ - 240
G G
= 40O
Z“dgrqléz ,x_wo The angles
=440 (’qre 40° b0°and
=gD \ g0
'Zfdamlc = X +x +40O
3 g -

= ‘1%‘1@

2z
= b6 -




Letr Zx+RB \,/Qpngg_nT o next #
2% ¥V +2%x+3= L0 (7 Swati= Zx +)
CR+2a =D —> \ = 203G + |
Yy = 156 | - F9
4 Y |  second #= Zx+3
x = 249 / =20339)+3
— g7

()/) Let x represent  dne B 5 dimes -

Let 200-x repiaseni  the # of QUartecs

OO X +0.25(20-x) = 42,50

O |Ox + 50 -0.29x = 41..90

O.10x -0.2Sx =42.50-50

-0.15x =—-73.5

-0.1§ 015
x = S0
G,\A w ters = 200-»
= 206-50D
=150

s Thece ore S5O dimes ourd |5O%W+&VS

(]/b) Let x representy e ot &/D bl

Let 12S-x (epre\m+ the £ F 320 bils

10x +200126-x) = 1L50 AF00lls= 128 -
lox 4+ 25060 —20% = [b 50 \ =125 -YS
|0x -20x = | 50~2500 | =40
—)0x = =850
> -0 /
x=95 7

Se There ave RS o pilS ancd YO #20 wills




/\Lch x repeesent the ¥ g G U0 viers
Ie’x A (e rone PN ' s
et 63-2x repiesent Yhe ¥ o dimes
0.25X + 0.05x + 0.10(53-2>)= .80
0.25x +0 05x + 53-02xn =(.80
0.25%x +005% -0.2x =6.9~-5%
0.lx = 1.50
.} ;T
x =15
d;\mes:S'&-Z&
=5%-2(1S/
=53 -0
= )35
soThere age \S quoxtexs, 1D nicxols, cund 23 dumes




